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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-8 0
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P3-8
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P3-8

BfiE) | GEBATK (D) | ERE (EA/K) | ERERE (B/R) | XS R

06:55 273 150. 0 2.583 E 1BRi&e06:55 BEh (RAERE)
07:30 273 150.0 2.583 5| {Ri%@07:30 Bz (FRAERSE)
08:20 273 150.0 2.583 = {RRiB008:20 B (FRFAEEE)
09:00 273 150. 0 2.583 E 1BRi&@09:00 Bzl (RAEREE)
09:35 273 150.0 2.583 5| {Ri%@09:35 B3 (FRAMERSE)
10:10 273 150.0 2.583 =l RRiB010:10 Bz (RFAEEE)
10:40 273 150.0 2.583 =l RRiB010:40 Bz (REAEEE)
11:10 273 150.0 2.583 =l Rig011:10 B3 (GRAEESE)
11:40 273 150.0 2.583 =l {Rige11:40 B3 (RAERSE)
12:10 273 150.0 2.583 Sl Rige12:10 B3 (RAERSE)
12:40 273 150. 0 2.583 E| {Rig012:40 B3h (GRE{ERSE)
13:10 273 150.0 2.583 E BRige13:10 Bz CGRAEREESE)
13:45 273 150.0 2.583 S| {Rig013:45 B (RAERSE)
14:15 273 150. 0 2.583 E BRige14:15 Bz CGRAERESE)
14:50 273 150.0 2.583 F BRige14:50 Bz CGRAERSE)
15:25 273 150.0 2.583 = {Rige15:25 B3 (RAERSE)
16:10 273 150. 0 2.583 El BRige16:10 Bz (GRAERESE)
17:00 273 150. 0 2.583 E| {Rige17:00 B3h (RE{ERLEE)
2it] 4914.0 (18X%) 2700. 0 32 KEC: 2080.0, PH: 5.7

FHEKRECE (1877.0 vs 4207.0) 35




P3-8_0, Day=70 (2025-06-07)
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P3-8

BfiE) | EBAK G | ERE (EAR/H) | ERERE (B/R) | XK R

06:30 273 150.0 2.583 = {Ri%@06:30 B (KRAERSE)
07:05 273 150. 0 2.583 E BRi&e07:05 Bzl (RAERERE)
07:50 273 150.0 2.583 5| {Ri%@07:50 Bz (FAERSE)
08:30 273 150.0 2.583 = {RRiB008:30 B (FRFAfREE)
09:05 273 150. 0 2.583 E 1BRi&@09:05 Bzl (RAEREE)
09:40 273 150.0 2.583 5| {Ri%@09:40 Bz (FRAMERSE)
10:10 273 150.0 2.583 =l RRiB010:10 Bz (RFAEEE)
10:40 273 150.0 2.583 =l RRiB010:40 Bz (REAEEE)
11:10 273 150.0 2.583 =l Rig011:10 B3 (GRAEESE)
11:40 273 150.0 2.583 =l {Rige11:40 B3 (RAERSE)
12:10 273 150.0 2.583 Sl Rige12:10 B3 (RAERSE)
12:40 273 150. 0 2.583 E| {Rig012:40 B3h (GRE{ERSE)
13:10 273 150.0 2.583 E BRige13:10 Bz CGRAEREESE)
13:40 273 150.0 2.583 S| {Rig013:40 B3 (RAERSE)
14:10 273 150. 0 2.583 El BRige14:10 Bz CGRAERESE)
14:40 273 150.0 2.583 F BRige14:40 Bz CGRAERSE)
15:15 273 150.0 2.583 =l {Rige15:15 B3 (GRAERSE)
15:50 273 150. 0 2.583 E BRi&e15:50 Bz (GRAERERE)
16:35 273 150.0 2.583 5| {Ri%e16:35 B3 (GRAERSE)
17:30 273 150.0 2.583 =l RRiB017:30 B3 (REAEESE)
21t 5460.0 (20)%) 3000. 0 3EGHKEC: 2080.0, PH: 5.8

#H[EKRECE (1820.0 vs 4140.0) 35
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P3-8

BYiE) | EBAK (R | EHE (EAR/HK) | ERERE (B/R) | XK R

06:30 273 150.0 2.583 & 1Rie06:30 B (KREERE)
07:10 273 150. 0 2.583 E BRi&e07:10 Bzl (GRAERSE)
08:40 273 150.0 2.583 |Z=| {Ri&%e08:40 Bz (KREEZEHSE)
09:20 273 150.0 2.583 FA| {Ri%@09:20 Bz (RAMEEEE)
10:00 273 150. 0 2.583 PA| {Ri%@10:00 Bz (GRAHEESE)
10:40 273 150.0 2.583 FA| 1BRi%@10:40 B3zh (RAERSE)
11:20 273 150.0 2.583 FR| {Ri%@11:20 Bz (GGRAEEE)
12:05 273 150.0 2.583 PA| {Rige12:05 Bz CGRAKEERE)
12:40 273 150.0 2.583 PA| {Ri%@12:40 Bz (RAEEE)
13:25 273 150.0 2.583 (Z=| 1Ri&@13:25 Bz (RAEHSE)
14:05 273 150.0 2.583 (Z=| 1Rige14:05 Bz (REAERSE)
14:55 273 150. 0 2.583 |Z=| BRige14:55 Bz (GRAERESE)
16:05 273 150.0 2.583 (Z=| {Ri%e16:05 Bz (FAMEHSE)
17:25 273 150.0 2.583 (Z=| 1Rige17:25 Bz (REAERSE)
23t 3822.0 (14%) 2100. 0 3ZHKEC: 2080.0, PH: 5.9

FHEKRECE (1773.0 vs 3140.0) #5
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ET (ml/hr/plant)

P3-8_0, Day=68 (2025-06-05)
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